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Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately. |
Use Blue or Black ink to write and underline and pencil to draw diagrams.

GOy : Qeuedammsger HreE LGS smend CETam_g.

Note : This question paper contains four parts.
L@ - 1/PART -1
GOly : () Sioansg NamssEns@n el wailssa)L. 12x1=12

i) QarHéslLLL mrenE elenLsafle Waeayb gL eflenLullenar
CspEshs8 GMULHLe elenulemarnyb GCaTEg 6r(psa]Lb.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1.

QIO arduieninayh Hpedt @Geopuim_ et g @l Qe o H6)| 6|

() @Y Qevens: (<9,) G Glevasre
(Q) @M i () @ Geflu Qaeins
The eye detect "Presbyopia’ can be corrected by :

(@) Convex lens (b) Concave lens
(¢) Convex mirror (d) Bifocal lenses
2CsCrm erawranflen i [GLomeb.
(<=1) 6.023x 1023 (<) 6.024 x 1024
(@) 6.023x1023 (FF) 6.024x10~24
The value of Avogadro number is /mol.

(a) 6.023x10~23 | (b) 6.024 x 1024
() 6.023x10%3 | ~(d) 6.024x10~2%4

BHIDD SMTFND) SN IITETLD HT6HTs
(=1) Biléd sevrdsLiL L o iy

(<=3) bfled sengaasiiuL Gl tEAEY

(@) biled seprdsiu’ L sriur soCur

(FF) STTLGT-6NL_-FOMLIGED SMTEHELILILL FOUI
Identify the non-aqueous solution.

(a) Sodium chloride in water

(b) Glucose in water

(c) Copper sulphate in water
(d) Sulphur in carbon disulphide

5 O WengenL QaramL e @&GLHB e Wl APROSGILa QenanEsLiLi(hEmg.
6 A WlanGenmi__oreng) @bs &GO eufwuirs UT&lmg) erefled 5 HlOlL_risefla
2 (Hheum@Ld GleuliLgden jarey -

(<=1 48000 ] (<2p) 54000 ] (@) 45000 (/) 84000 J

An electric heater of resistance 5 () is connected to an electric source. If a current of
6 A flows through the heater, find the amount of heat produced in 5 minutes.

(a) 48000 J (b) 54000 ] (c) 45000 ] (d) 84000 J
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CHOH 430, - 2C0, 1 3H,0 arepig

9) THHANQ (NHSID

—

Q) THHMD 61 iflge

A

Q@) erpseamuils onfand gybdmGapmid
m) THSGane gy dfmGanppLd
>HOH + 30: -~ 2(:02 +3H,0 is :

———

r"\.

a) Reduction of ethanol

?_.-—-..

)
) Combustion of ethanol
)

(¢) Oxidation of ethanoic acid

(d) Oxidation of ethanal

STHHIOOT HeuTESSlen pped 2 (HEUTEUF) :

(=) srrCGurenamt G (<2),) TSV 2p0ESANTE
(8) Séllewe Cam.er (/F) emuimGeuL

Which is formed during anaerobic respiration ?

(a) Carbohydrate (b) Ethyl Alcohol

(c) Acetyl CoA (d) Pyruvate

“Bedar 2 LDOFwellweden shas” eTan SjenpssliLBLeU :

(=1) ablev-eri_ MG (=) eflevedlwd ammied
(@) smréd Cavainl_avie e () erieuii. C. Qaare
Who is regarded as the “Father of Modern Physiology” ?

(a) His-Atrio (b) William Harvey

(c) Karl Landsteiner (d) Edward C. Kendal

Cremeiir sgmisser sramrliL(BL @LLb

(B1) semaser (<) S &EFTESHET
(@) CLewmlenyl(Haer (FF) engLLmey
Node of Ranvier is found in

(a) muscles (b) axons

(c) dendrites (d) cyton

[ l(hliys / Turn over
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10.

11.

(<) C&Llﬁiﬂﬂﬁ&i—[
(@) Nureaarser

(@)  Auxin
(c) Gibberellins

DNA -eveu Geul Ly uwearu@eud
(=) 8&55MN&Csred
(@) &858

We can cut the DNA with the help of :
(a) Scissors
(c) Knife

ANLGEET:S
(1) urelefenared GGarreny(h

2) GCslwlwid

(3) FwWw

4) ECrmdlwibd

(21) (1)), 2)-(ii), (3)-(iv), (4)-(i)
(@) (1)-(iid), (2)-(id), B)-(iv), (4)-()

Match the following :
(1) Polyvinyl chloride
(2) Cadmium

(3) Lead

(4) Chromium
(a) (1)), (2)-(iid), (3)-(iv), (4)-(ii)
(€)  (1)-(idi), (2)-(ii), (3)-(iv), (4)-(i)

4

1s found abundantly in liquid end

(b)
(d)

, G misTusl e @m;ﬂlﬂm rqqp,_]a;umaaeia grent LN SIma.
(<) andL_QLITen & 6uTl 6ot

(%) ergfedan

osperm of coconut,

Cytokinin
Ethylene

(<o) Qraiot_Misever Qprs

(FF) Ig.GT6.6. e G&E6

(d)

Restriction enzymes

DNA ligases |

GLOHESHETIG eLpeneT GUETTESlenIL
LTd&Slmg)

@ iQUmES LoETL_ 0SS 6
alenrFflepwl LTSS
PPFFHSHS WM <} 60G)LOMT
BrLsemer Urdladlenmg

(
() (1)-(), (2)-(), (3)-(ii), (4)-(iv)
(

(D)-(1), (2)-(v), 3)-(1), (4)-(iii)

Affects brain development in children
Affects the growth of reproductive system
Asthmatic bronchitis

Neural damage

(1)-(i), (2)-(0), (3)-(idd), (4)-(iv)

(1)-(1i), (2)-(iv), (3)-(3), (4)-(ii)
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12.  sflwren @evewrenid s :

() &ECrrQaan N - Qe Crrflwui  @CrrCGurCsrben
aLWSHNG DAmED sramriiu@Hns.
srarGes  Q@raw® SFwLwWHD GrEser
o (16U Ml emmen

() sU-Cwl L r@sar fs - Qe GrmoluT GCrrGurCsmblan e m
pevanie srarliu®Eng

(@) QulLrOsan Mé - Qeer_GpmiSlwm &CrrCurGamen
WSSl Denopg Qe swberiperer
FIRIGEET 2 (HEeUTEHE-Fmg|

(7) 1eCarQsar M - CearGrmflwir gCrrCuorGsmben qm
(PNETESG Di(HEHlD STanTii-LI(HeUgTed, 6T

GLOLWTET ST @ e &repw
LlummieTeTen

Find the correct pair.

(@) Acrocentric - The centromere is found near the centre of the
chromosome with two unequal arms.

(b) Submetacentric - The centromere is found on the proximal end.

(c) Metacentric - The centromere occurs in the centre of the
chromosome and forms two equal arms.

(d) Telocentric - The centromere is found at one end with a short
arm and a long arm.

[ Sllys / Turn over
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LG - 11/ PART - II

SOy sTemeuGwigy| b 7 cllenmdsend@ eflenWell&se b, eflanr eremm 22 -&@& 7x2=14
SL_L_muons oflen L wefl&ge,Lb.
Answer any seven questions. Question No. 22 is compulsory.

UDSSSTRISET L) Sm GHuY euenys.
Write short notes on gears,

Note :
13.

14.  Lmdemr eflenemay perLGlup (wWigwirg @Qreamh @pasHmeTs Fa[)|5.

Mention two cases in which there is no Doppler effect in sound.

15. eamew Qeutiu effiay GMELD UMTWMISESHED. GCQID BFer jevdane

GT@@BS

Define co-efficient of real expansion and mention its unit.

16.  yosanrasmand seamHu b Cergeanden elenareniis sams.

Write a reaction which is used for the identification of alcohol.

17.

Name the three types of neurons and find its location.

18. Glar@&siL_Rater LLsdeé A, B, C, D BEW LTSRS BjenLILmerLd
STERTELD.

Identify the parts A, B, C and D in the given figure,
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19.  yeg e uflitingaimisailen sregeang 6166 oIDlhg Glmmarar @)uigymn 7

How can you determine the ape of (ossils ?

20. DNA aflp@ Grensg Qamfled miL Lbdlen Henl(pedn LWGTLT(HEameT 6T(Lpg)s.

State the applications of DNA fingerprinting technique.

21.  avdlgrés e HmsHuder CGuen (STAGE) eramugl Lnml Sy @il erpsis.

What is “Stage” in Scratch editor ?

22. @@ Qurmeflafimbs Qsaaib alsshapurarg 0.3 8. Glwugs AsTaway
Caream, alf&En Qeersrd @elds il H 0.2 1. eramm dgrenaaier Gbusamns
ghuBSgEng erafler Qummeflen Cgranaamelsd samssl(Hs.

A beam of light passing through a diverging lens of focal length 0.3 m appears to be
focused at a distance 0.2 m behind the lens. Find the position of the object.

L@ - 11/ PART - III

GOy : eTemeuGWend 7 eflammés@ndE ellenwefldEsea|n. eflamT erawr 32 -&@ 7x4=28
SL_L_muwnrg adlen_wetl&HsaLD.

Note : Answer any seven questions. Question No. 32 is compulsory.

23. r&lsl geysme eleTsEs.

Describe rocket propulsion.

24, ereflw mamCanmrsdlufler LweTLT(HEET Wrena ?

What are the uses of Simple microscope ?

[ ﬁ@ﬁqa& / Turn over
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25.

26.

27,

28.

29.

30.

(<) BQWIred) ame&aT TG GTeven ?

(<) THArreluen OSSO LIWLIETSMETS SnDid.
(@)  What do you understand by the term ‘Ultrasonic waves’ ?

() What are the medical applications of echo ?

o Gaors éqﬂmrrm‘ej,smg,g FHEGL (PODEET WTEne ?

What are the methods of preventing Corrosion ?

Gamiy whmib 191 Qe e Caumu@sss.

Differentiate soaps and detergents.

Caupr® 5®s - “@@ dsHons sraur Gaui whnbd Gn lsHaws
gmeur Geurr.”

Differentiate between Monocot root and Dicot root.

ey @QswsHen Geuefliym Siewlienu LLLb UGG LITERIGET &M&seyLD.

Draw the external structure of human heart and label the parts.

QULLITT @le greurellie) ramigana euanTmiss) 2isen WP&ELSF UFSNS
6T (PS5,

Define Ethnobotany and write its importance,
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WCIRURARI P Lipl QUSRS

Explain about Gene Therapy.

(<) 100 &. Biled 25 &, sirssraws sorss @@ soTE0 SUMESLLESADS.

G SOTelummefen Hleop s5eissmss Srams.

(<) &flwr ? seupr ? (geum erafler spPHevans Hms8s)

@) e aumpelled prd LwETLHSSES W HTeu WHHSISET, CUTL-
seyb freukisedr, Yeors sHrureanser, Smulprélaiser Gumen
senysesafle) o erer serGummailen eTeysEeT w/w eren LISSSTE
GOLELLLEng.

i) seflbyser, Websdsd, Ceruyser Cureatpeupdle o emer
senrsosaflen Qedeyser v/v eramm GHILALLLHSEDS.

A solution was prepared by dissolving 25 g of sugar in 100 g of water. Calculate

the mass percentage of solute.
True or false (If false give the correct statement).

(i) In our daily life, solution of syrups, mouth wash, antiseptic solution,
household disinfectants etc., the concentration of ingredients of solution is

expressed as w/w.

(ii) In Oinments, antacids, soaps etc., the concentration of solution is expressed

as v/v.

[@@ﬂl—lﬁ / Turn over
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U@d\ - IV /PART - IV

GOILY : Jevengg) ellannds @@ efanwafldse b, Comeurar @)L rbiserfe
ULLD euenps 3x7=21

Note : Answer all the questions, Draw diagrams wherever necessary.
33. (=) ciPsafla LweTURSSLLEW Wensnen elleTésea]Lwb.
S| 6060
(<) peoum, S, sror sdlrseflen LiaTLsamer U0 s.
(a) Explain about domestic electric circuits.

OR

(b) Compare the properties of alpha, beta and gamma radiations.

34. (=) () mpeienr amisQsraransulen Car Lr@samer GT(LHSIS.
(i) Seust Grr elfufler LwearLTRsaT TCHEID Qran( smms.
{60605

(%)'(i) @nep @QLUCAUWTES deaawu FEHS aTOHEHESTLH L6
alendGs.

i) @rier Q@LUCQUWIEFH Amarlear oumssamar 5GHS
T(HWSGEHT_(HL6n allens@s.

(@) (i) Give the salient features of “Modern atomic theory”.
(i) Write any two applications of “Avogadro’s Law” .
OR
(b) () Explain single displacement reaction with examples.

(ii)  Explain the types of double displacement reactions with examples.
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(puISlen saumad @pmudle) @mBEBEIDL| GIETILIGIHET HTamLiL(he.5)
erem ?

B ureng Grmiggmmo (UTT) -6 ellenermeysenerd gnms.
S|V G

. ereu.er-elen o ufdflucy upédluggeund wrg ?

@Qsw Cpmuser grhu@euassd 56H&6 Cun@areme@sn wenlassflsms

BLoUy SEMESMaTE Fn)s.

Soupres Lwenum(h&@ 2-emerme GLHOSSHEMETL urrgjarrﬂug,rj)asrrw-

SIS Pdnser gCoaIb 2 Sms.

Why are the rings of cartilage found in trachea of rabbit ?

Write a note on UTL

OR
What is the biological signiﬁcance of DNA ?
What precautions can be taken for preventing heart diseases ?

.Mentiﬂn any two approaches for protection of an Abused child.

} -000-



